integral 4.2 - sigma notation and area November 11, 2013

3.9 #5,9; 11-19 odd; 45, 49
Homework questions? 4.1 #5-33 odd; 55-61 odd; 67, 83

(<-- note to self, check for homework completion & assign 1st hw grade!)
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Summation Formulas
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Use summation properties to evaluate the sum.
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4.2 Area Divide the interval [a,b]

into n equal subintervals,
each of width (b-a)/n.

Here, the height of a
rectangle is determined by
the right endpoint of each
subinterval; this is called
an upper sum.

The area of each rectangle
will be:
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T | I Here, the height of a
rectangle is determined by
the left endpoint of each
subinterval; this is called a
lower sum.
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4.2 Homework:

#7-190dd; 27-370dd; 41,43,47,53
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